GP1LO6

Wide Gap Type, High Sensitivity Photointer-

rupter
M Features B Outline Dimensions (Unit : mm)
1. Wide gap between light emitter and detec-
tor : 5mm 13,7403 Intemal connection diagram
9. High sensing accuracy (slit width : 0.5mm) ) ‘
3. High current transfer ratio 5 Ny
(CTR : MIN. 30% at Ir=1mA) 2
4. PWB direct mounting type package § @ ®
425050145 (& 6.0%°2
- - T 1 —
# Applications s 235 |§ ‘ ‘0115'|
1. Copiers, printers, facsimiles . 5 A
. . . 9 o + H
2. Automatic vending machines o gg S u
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{ S < i
L =1 ¥ 4-"045
(5.445) 1 @54
T
@ Anode
@ Cathode
@ Collector
@ Emitter
B Absolute Maximum Ratings (Ta=25C)
Parameter Symbol Rating Unit
Forward current Ie 50 mA
Input *1Peak forward current Tem 1 A
P Reverse voltage Vr 6 A\
Power dissipation P 75 mW
Collector-emitter voltage Veeo 35 \"%
Output Emitter-collector voltage Veco 6 A\
P Collector current Ic 40 mA
Collector power dissipation Pc 75 mW
Operating temperature Topr —~25~+85 °C
Storage temperature Teg —40~+100 ‘C
*28pldering temperature Tsot 260 °C
%1 Pulse width<100gs, Duty ratio=0.01
%2 For 5 seconds
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M Electro-optical Characteristics l lTa=25"C)

Parameter Symbol Conditions MIN. | TYP. | MAX. | Unit
Forward voltage Ve Ir=20mA — 1.2 14 A"
Input | Peak forward voltage Vin | Isn=05A - 3 4 \'
Reverse current Iz Ve=3V — — 10 ulA
Output | Collector dark current Iceo Vee=10V - — 10-¢ A
Current transfer ratio CTR |Ig=1mA, V=2V 30 — 2,000 %
’[;)ransfer Collector-emitter saturation voltage | Vegsan | Ir=2mA, I¢=0.3mA — - 1.0 \'
teritics | Response time (Rise) tr__ | Vee=2V, .=2mA = | 130 | 400 | s
Response time (Fall) te R.=100Q — 100 350 us
Fig. 1 Forward Current vs. Fig. 2 Collector Power Dissipation vs.
Ambient Temperature . Ambient Temperature
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Fig. 3 Peak Forward Current vs. Fig. 4 Forward Current vs. Forward Voltage
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Fig. 5 Collector Current vs.
Forward Current
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Fig. 7 Collector Current vs.
Ambient Temperature

Collector current Ic (mA)

Fig.

Response time (us)
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9 Response Time vs. Load Resistance

Ambient temperature Ta ('C)
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Fig. 6 Collector Current vs.
Collector-emitter Voltage
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Fig. 8 Collector-emitter Saturation Voltage
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Fig. 10 Frequency Response Fig. 11 Collector Dark Current vs.
Ambient Temperature
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Fig. 12 Relative Collector Current vs. Fig. 13 Relative Collector Current vs.
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